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R Bases en électricité
A — B — c
L ,
Données :
U,=10V
U,=8V
U,=5V
V=2V
]
L
F E D
1) Voir cours.
2) Ve=10VetVa=20V
3) U= 0V
Données :
R1=1,2 kQ
C) R2=12,7kQ
1) Voir cours.
2) Req= 831 Q
3) Voir TDs.
Données :
R1=1,2kQ
R2=2,7 kQ
D o

1) Voir cours.
2)I=1,5mA.
3) UR1= 1,8 V et UR2= 4,05 V
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Evaluation ET :
Bases en électricité

Correction

1) Reqr= 1000 Q

2) Req2= 4000 Q

3)[=3mA

4) UR3= 9V

5) Uri= 3V (et 1= 1,5 mA)

1) U=5,5V

Données :
U=12V

RI=2kQ
R2=2kQ
R3=3kQ

Données :
U=12V
R1=2800 Q
R2=1200 Q
R3=2400 Q
R4=1600 Q

Données :
I=8 mA
R1=2,2kQ
R2=6,4 kQ
R3=1,2kQ
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